Boyle’s Law Problems Worksheet

Work must be shown on problems 2-  for any credit on this worksheet.
1. What is the formula for Boyle’s Law?

2. Solve the formula for P1.
3. Solve the formula for V1.

4. Solve the formula for P2.

5. Solve the formula for V2
6. A balloon has an initial pressure of 500 torr and a volume of 3 liters.  The pressure drops to 200 torr.  What is the final volume?

7. A tire has an initial pressure of 600 torr.  The initial volume is unknown.  The pressure increases to 800 torr when the final volume is 4 liters.  What is the initial volume?

8. An exercise ball with a volume of 25 liters has an initial pressure of 437torr.  The volume decreases to 20L when a person sits on the ball.  What is the new pressure?

9. A pop bottle has a volume of 0.59L with an unknown amount of pressure in it.  The plastic of the bottle stretches to a final volume of 1.08L creating a final pressure of 14 torr.  What was the initial pressure in the bottle?

10. A weather balloon has an initial pressure of 1500 torr and a volume of 35 liters.  The pressure increases to 2500torr.  What is the final volume?

11. A bike tire has an initial pressure of 300 torr.  The initial volume is unknown.  The pressure decreases to 15 torr when the final volume is 32 liters.  What is the initial volume?

12. A soccer ball with a volume of 2.5 liters has an initial pressure of 143torr.  The volume decreases to 1.9L when the goalie catches and squeezes the ball. What is the new pressure?

13. A beach ball has a volume of 6L with an unknown amount of pressure in it.  The plastic of the ball stretches to a final volume of 6.5L creating a final pressure of 21torr.  What was the initial pressure in the beach ball?

14. A paper bag has an initial pressure of 900 torr.  The initial volume is unknown.  The pressure increases to 1300 torr when the final volume is 0.9 liters.  What is the initial volume?

15. A volleyball has a volume of 0.96L with an unknown amount of pressure in it. The leather of the ball shrinks to a final volume of 0.86L creating a final pressure of 56 torr.  What was the initial pressure in the bottle?

16. A mylar balloon has an initial pressure of 73 torr and a volume of 4 liters.  The pressure drops to 36 torr.  What is the final volume?

17. A tire has an initial pressure of 1600 torr.  The initial volume is unknown.  The pressure decreases to 800 torr when the final volume is 4 liters.  What is the initial volume?

